

About US

Mobi Loan developed by fountain developer falls under the category of finance Site and APPS. Since April 2022 the APK has been ready for download. The number of Installations for the app total 120 thousand. In the 30 day Period ending today, the number of install for the app approximately 920.

Network marketing in launch india (8 April 2024)



CMD PROFILE

Mr Amit Jain

Mobi Neton Private Limited is a private incorporated On 14 December 2015. It is classified as non-government company and is registered at register of companies Uttrakhand.

Mobi Weton Private limited Corporate CIN No: U7200UR 2015 PTC 001818 Registration No.15 18.11

Ofice adress:
12 Civil lines Roorkee Rudra Prayag UR 274467





OUR VISION

Our Vision is to utilize every minute of every person to make a system more powerful. We want to develop a program highly recommended by our investors and partners. We offered our customers the lowest possible investment and high profit. Let's make your dream come true with our fast and worldwide growing platform.

How To Increase Your

CREDIT SCORE

- Provide loans to people in your downfall at every position.
- If you are on second position loan, then give the first loan to someone below you, this will increase team income and CIBIL score will also increase.
- Whatever position you are in, give loan to at least one person who is below you.







NO Document Required



Quick Disbursement

Benefits Of MOBI LOAN



Easy EMI Facility



Cash Back Facility



Business opportunity









FREE REGISTRATION

REGISTRATION FORM

Name

Email ID

Mobile Number

Adress Proof

REGISTER NOW



LOAN & CASHBACK

LOAN	EMI	WEEK	TOTAL	CASHBACK
500	125	4	500	100
1000	250	4	1000	200
2000	500	4	2000	400
4000	1000	4	4000	800
8000	1600	5	8000	1600
16000	2000	8	16000	3200
32000	4000	8	32000	6400
64000	6400	10	64000	12800
128000	8533	10	128000	25600
256000	12800	20	256000	51200
512000	17066	30	512000	102400



For Loan No Need Direct Referral LOAN APPROVED TEAM PROFIT

LEVEL	TEAM PROFIT
Level 01	1%
Level 02	1%
Level 03	1%
Level 04	1%
Level 05	1%
Level 06	1%
Level 07	1%
Level 08	1%
Level 09	1%
Level 10	1%

• Get Team Profit From Your Team Approved Loan

LOAN RETURN TEAM PROFIT



LEVEL	TEAM PROFIT
Level 01	1%
Level 02	1%
Level 03	1%
Level 04	1%
Level 05	1%
Level 06	1%
Level 07	1%
Level 08	1%
Level 09	1%
Level 10	1%

When Your Team Pay EMI You Get Commission

TEAM LEVEL WORKING PROFIT

LEVEL	LEVEL PROFIT
Level 01	5%
Level 02	4%
Level 03	3%
Level 04	2%
Level 05	1%
Level 06	1%
Level 07	1%
Level 08	1%
Level 09	1%
Level 10	1%



• When Your Team Member Active Is ID



- Registration Free
- Minimum Deposit Only 1200/-
- One Person Create 3 ID
- Without Direct Loan Approved
- Daily IMPS Services Available
- Minimum Withdrawal Rs.200/-
- Admin & TDS Charges 10%
- Earning Wallet To Fund Generate Charge Only 5%



